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3.  QUADRATIC FUNCTIONS

TYPE OF POWER FUNCTION

Consider the quadratic function

A. Fill in the table below

f(x) = x*

Fill out the table below. Then use that table to graph the quadratic function.

B. Plot these points on the axis provided
C. Interpolate between the points you plotted to create the graph of this function

Input Quitput
x f@) =x"
=5 +25
= + 16
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2 4
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0 ®
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3 9
& l6
5 25
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3D. What is the x—intercept of the quadratic function f(x) = x*?
(Write about how the x-intercept shows up in your graph from parts 3A —3C).

o T'\L X—,n-}(rccp-f s "H\L PC.HJ‘ Whéf‘(, 'H)L 3’\(2‘9}‘ ‘}"OUCMCS #\L s
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f

3E. What is the y—intercept of the quadratic function f(x) = 527
(Write about how the y-intercept shows up in your graph from parts 3A -3C).
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3F. Why does the graph of f(x) = x? never go below the x-axis?
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3G. What is the domain of the quadratic function f(x) = x*?
- (Write about how the domain shows up in your graph from parts 3A -3C).
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3H. What is the range of the quadratic function f(x) = %0
(Write about how the range shows up in your graph from parts 3A — 3C).
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4.  SQUARE ROOT FUNCTION TYPE OF ROOT FUNCTION

Consider the absolute value function
f)=vx

Fill out the table below. Then use that table to graph the quadratic function.

A.Fill in the table below
B. Plot these points on the axis provided

C. Interpolate between the points you plotted to c}rweate the graph of this functlon
vertical hne

| X Y Y4
AN 3
-1 No+ Poss.ble 4
3
0 9
1 |
N
. ‘
N
9
N
16 TN
25 I » ™ |
: 8 12 16 20 23
fa:ls +he
9(X‘ = VCr“’iCG‘ l\“c 4&5{’

gcaph reprcsm‘i Q
relathon, not & fuachon
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4D. What is the x—intercept of the square root function f(x) = Vx?
(Write about how the x-intercept shows up in your graph from parts 4A — 4C).

- The w-inkecpr of a funchon s He pomt where M‘gn_;pnof- +hat
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4E. What is the y—intercept of the square root function f(x) = Vx?
(Write about how the y-intercept shows up in your graph from parts 4A — 4C).

* The y-inteeupy of a Ronchan s 4 point” W here "h\L\Ci“QPh of
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4F. Why does the graph of f(x) = ¥ x never go below the x-axis?
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4G. What is the domain of the square root function f(x) = Vx?

(Write about how the domain shows up in your graph from parts 3A -30C).

* The doman of a )ancf\,oz\ y.:~*P(X) s the sct ef all

valid m\o\/'f x = valves

Z \
2 r d Cﬂ\)a_
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e BOE e
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=2 Doman o4 ’\JLX W -l nonhcg(;hw

2
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4H. What is the range of the square root function f(x) = ¥V x?
(Write about how the range shows up in your graph from parts 4A —4C).
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